

۲۰

$$\{1\}, \{2, 3, 4\}, \{5, 6, 7, 8, 9\}$$

$$a^n = 1 \Leftrightarrow n^2 = \text{فرد}$$

$$(n-1)^2 + 1 = 2 \Rightarrow \text{دسته دوم} \quad (n-1)^2 + 1 = 4 \Rightarrow \text{دسته سوم}$$

✓

$$\frac{75+11}{2} = 43 \leq \frac{a+b}{2}$$

$$\{1, 2, 3\}, \{4, 5, \dots, 12\}, \{13, 14, \dots, 24\}, \{25, \dots, 36\}, \{37, \dots, 48\}, \{49, \dots, 60\}$$

$$\frac{121+343}{2} = \frac{464}{2} = 232$$

✓

$$rk \Rightarrow n=9, 9, 3, 0 \Rightarrow k = \dots, 1, 2, \dots$$

$$-rk+4 \Rightarrow n=1, 6, 9 \Rightarrow k = \dots, 1, 2, \dots$$

$$S_{10} = 1+4+1+4+2+2+1+4+6+0+4+4+4 = 30+30 = 60$$

✓

$$\begin{cases} a_0 = r^0 = 1 \\ a_1 = -r(0) + 4 = 4 \\ a_2 = \left[\frac{r}{1+r} \right] + a = 1 + \frac{a}{1-r} \\ a_3 = r^3 = r \end{cases}$$

$$a_4 = -r(1) + 4 = 3$$

$$a_5 = \left[\frac{a}{1+r} \right] + a = 1 + \frac{a}{1-r}$$

$$a_6 = r^6 = r$$

$$a_7 = -r(2) + 4 = 0$$

$$a_8 = r^8 = 1$$

$$a_9 = \left[\frac{a}{1+r} \right] + a = 1 + \frac{a}{1-r}$$

$$a_1 + a_2 + a_3 + \dots + a_{10} = (-1) + (-1) + (0) + (1) + \dots + (1) = -2$$

$$a = \frac{1}{v_0} \times -16 = -16$$

$$a_n = an^2 + bn + c$$

$$a_0 = a(0)^2 + ab + c = 16 \Rightarrow (r)a + ab + c = 16$$

$$a_1 = a(1)^2 + vb + c = 16, r \Rightarrow 4a + vb + c = 16, r$$

$$a_2 = a(2)^2 + vb + c = 16, r \Rightarrow 9a + vb + c = 16, r$$

$$c \Rightarrow \frac{r(9a-4a)}{r} + \frac{a(r)}{r} + c = 16 \Rightarrow c = -1 \Rightarrow a_n = -\frac{1}{2}n^2 + kb - 1$$

$$a_1 = -\frac{1}{2} + b - 1 = 3, 1 \Rightarrow a_2 = -\frac{1}{2}(4) + b(1) - 1 = 16$$

$$a_3 = a + rd \Rightarrow a' + d' = -1d'$$

$$a_4 = a + vd \Rightarrow a' + 4d' = -r'd'$$

$$a' + 4d' = 0 \Rightarrow a' = -4d'$$

$$\frac{a_1 - a_0}{d} = \frac{16 - 1}{d} = \frac{15}{d} = \frac{a}{d} = \frac{1}{2}$$

✓

$$4a_r^r = \Delta a_r a + r a_r a$$

$$4a_r^r - r a_r a + \omega a_r a \rightsquigarrow r a_r (\frac{r a_r - a}{a + r d}) = \frac{\omega a r d}{a(a + r d) a}$$

$$\frac{a_t}{d} = \frac{a_1 + r d}{d} \begin{cases} \textcircled{1} \frac{-r d + r d}{d} \cdot \frac{d}{d} \cdot \frac{1}{1} r a_r (a_1 + r d) = a a_1 (a_1 + r d) \rightsquigarrow r a_r = \omega a_1 \rightsquigarrow a_1 = \frac{r}{\omega} d \\ \textcircled{2} \frac{\frac{r}{\omega} d + r d}{d} \cdot \frac{1}{d} \cdot \frac{1}{r} \cdot \frac{r}{a_1} \end{cases} \begin{matrix} r a_r = \omega a_1 \\ r(a_1 + d) = \omega a_1 \rightsquigarrow r d = r a_1 \textcircled{3} \\ a_1 + r d = 0 \rightsquigarrow a_1 = -r d \textcircled{4} \end{matrix}$$

$$a_r = a_1 + d \quad a_r = a_1 + r d$$

$$a_n = c, b, a \rightsquigarrow a = c + r d, b = c + d$$

$$b_n = \frac{c}{r}, \frac{a}{r} \cdot b \rightsquigarrow \frac{a}{r} = \frac{c}{r} (q) \quad b = \frac{c}{r} (q^r)$$

$$b \rightsquigarrow c + d = \frac{c}{r} q^r \rightsquigarrow d = \frac{c}{r} q^r - c \rightsquigarrow c (\frac{q^r}{r} - 1)$$

$$a \rightsquigarrow c + r d = \frac{c}{r} q \rightsquigarrow r d = \frac{c}{r} q - c \rightsquigarrow c (\frac{q}{r} - 1)$$

$$\frac{r d}{d} = \frac{c (\frac{q}{r} - 1)}{c (\frac{q^r}{r} - 1)} \cdot \frac{(q^r - 1)}{(q - 1)(\frac{q}{r} - 1)} \rightsquigarrow r = \frac{1}{\frac{q}{r} - 1} \rightsquigarrow q + r = 1 \rightsquigarrow q = -1$$

$$r q = -r$$

$$c, b, a \rightsquigarrow b = c q, a = c q^r$$

$$c, r a, r b \rightsquigarrow r a = c + d, r b = c + r d$$

$$r b \rightsquigarrow r c q = c + r d \rightsquigarrow r c q - c = r d \rightsquigarrow c (r q - 1) = r d$$

$$r a \rightsquigarrow r c q^r = c + d \rightsquigarrow r c q^r - c = d \rightsquigarrow c (r q^r - 1) = d$$

$$\frac{r d}{d} = \frac{c (r q - 1)}{c (r q^r - 1)} \Rightarrow r = \frac{r q - 1}{r q^r - 1}$$

$$(q - 1)(q + 1) = 0 \quad \left\{ \begin{matrix} q = 1, \text{ useless} \\ q = -1 \end{matrix} \right\} \quad \frac{a q}{a_1} = \frac{a_1 q^r}{a_1 q^0} \cdot q^r = \left(\frac{-1}{r} \right)^r = \frac{1}{r^r}$$

$$c q^r - r = r q - 1 \rightsquigarrow r q^r - r q - 1 = 0 \rightsquigarrow q^r - r q - r = 0$$

$$\frac{a_1}{(a_1)^r} + \frac{a_1}{a_1^r} = r \rightsquigarrow \frac{a_1 q^{r r}}{a_1^r q^r} + \frac{a_1 q}{a_1^r} = r \rightsquigarrow \frac{q^r}{a_1^r} + \frac{q}{a_1^r} = r \rightsquigarrow \frac{q^r}{a_1^r} + 1 \frac{q}{a_1^r} - r = 0$$

$$\left(\frac{q}{a_1} + 1 \right) \left(\frac{q}{a_1} - 1 \right) = 0$$

$$\frac{a_1^r}{a_1^r} = \frac{a_1^r}{a_1^r q} = \frac{a}{q} \rightsquigarrow \frac{a}{q} = 1 / \frac{1}{r}$$

$$\star \frac{q}{a_1} = \frac{-r}{1}$$

$$a_r^r = a_r \rightsquigarrow a_r^r = a_r q \rightsquigarrow q = a_r$$

$$a_0 = r v$$

$$\frac{a_0}{a_r} = \frac{a_1 q^r}{a_1 q^r} \cdot q^r = \frac{r v}{a_r^r} \rightsquigarrow q^r = r v \rightsquigarrow q = r$$

$$a_0 = a_1 q^r \rightsquigarrow a_1 = \frac{a_0}{q^r} = \frac{r v}{r^r} = \frac{r v}{1^r} = \frac{1}{r}$$

$$\frac{1}{r^r} - \frac{1}{r^r} = \frac{1}{r}$$